00010,000 ABCDO, 000000000 01 A
0PO,0ABODODDODOO,00A, 00BOC
0oooo0o0o0o0oO

00 AD0OD0COOOO0O0O00,00DO0PO
0000000000 QODOOO
0oooooooO B o

0010010000, ZABC=60°, ZDCA=T5°, o9 A

ZADP =¢° 00000, ACDQOODOO R
00 «CQDOO0O0OODODODOD,0000 S
00000000, 0000000

0 (45-a)0 0 (60— a)0
0 (a+30)0 0 (a+45)0

B C

o02000020,010000,00Cc0O00POOO,00AO0DO0OCOCPOOO
ooooOobO,b00 bPOOOOOR,0CDOOOOCOSOODOOODOOO
oon

000®,®@00000

@O AAQR[] ACQPOOOOOOOOOOO

® 00 000000,000,00000000000000000000
020000,AP:PB=2:1000,AAQROIDDOD,000 APCSOODO
0
O
0o
ooooo

1 00 O http://www.mathtext.info/



